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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
Tare frarad o Seq fia '

(a) Define average prdpensity to consume
(APO). | e

oG TATSIel SRTOR e A |

(b) Define gross domestic product.
TS T T v foa |
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(2)

(c) Mention one method of measuring
national income.

B S SR GO &S B 340 |

(d) What is effective demand?

ﬂﬁﬂmﬁﬂﬁ??

(e} From left to right aggregate demand
curve is upward sloping/downward
sloping.

( Choose the correct answer )

AP @ CifEts FHEE wiEm  @HeE
eoRte O @ / et ifi ey o

(o Teach! AR Sfaear )

() Keynesian equilibrium is a full employ-
ment/underemployment equilibrium.

( Choose the correct answer )

RFEoE  Seme o ﬁmsr/wﬁrm
SIS | '
| ( % e Ak Srea )
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(3)

(g) Define autonomous investment.

wags R s far |

(h) Marginal propensity to consume cannot
be greater than one.
( State True or False )

AR (S5 YATO GFOLF ©I8E 27 (RIS |
(3751 = frm for=n )

i What is an accelerator?
& 9
() Define marginal efficiency of capital.
| TR 2N e i |

2. Answer the following questions : 2x5=10
v nPTRd T o
(a) What are the basic economic activities?

™ weftafes e & 62

(b) How does Gross National Product differ
from Net National Product?

w% A AT o LD B B R
2T ?
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(4)

() Mention the determinants of aggregate
demand function.

5 b1z T ATz T 4 )

(d) Mention two factors affecting
" consumption function.

(o171 Fo 2ASRIRAS 41 51 Some Srard < |

(e} What is investment?

Rfcms &2
3. Answer any ' four from the following
questions : ‘ 5x4=20
o 2P R e wifbr T foran -

{a) Explain the circular flow of income in a
two-sector economy.” '

fay8ly S 9¥T© WRE SE fErR A
|

(b} Explain the main components of
national income.

BT SR A AP I 4|
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(6)

4. Answer any four of the following questions :
10x4=40

T PR R I BIRGR Te o

(a) Discuss the relationship between
national income and economic welfare.
What are the importances of measuring

- national income? Explain. 5+5=10

AW TR WF FARATE T TS FoECH!
SIS 41 | IBT WA AR $FeE {0
AT 40 |

(b) Discuss the simple Keynesian model of
income determination. 10

W R T R S e 4 |

(c) Discuss the classical theory of
employment. 10

ﬁmﬁawﬁGWWW|

(d) Discuss critically the Keynesian
consumption function. 10

(RPEOR CO151 FFICH! FACABAGFSILE ST
341
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(7))

(e) Explain the relationship between
marginal efficiency of capital (MEC) and
investment. What are the determinants
of MEC? Explain. 4+6=10

e e IREEel Wie R TR
TS AR T | P AT PR

ez & 62 rm Fan 1
{f) Critically discuss the accelerator theory. 10
TP TGO FACABATIPSICA ST BT |

* &
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